

Degrees of M -fuzzy families of independent L -fuzzy sets

S. Y. Zhang¹ and S. G. Li²

^{1,2} School of Mathematics and Information Science, ShaanXi Normal university, 710119 ShaanXi, P.R. China

shaoyugc@163.com, shengganglinew@126.com

Abstract

The present paper studies fuzzy matroids in view of degree. First we generalize the notion of (L, M) -fuzzy independent structure by introducing the degree of M -fuzzy family of independent L -fuzzy sets with respect to a mapping from L^X to M . Such kind of degrees is proved to satisfy some axioms similar to those satisfied by (L, M) -fuzzy independent structure. Then we define and study some special degrees (e.g. quotient degrees and isomorphism degrees) with respect to mappings between two (L, M) -fuzzy matroid-like spaces in details. Finally we give characterizations of these degrees and investigate relationships between them.

Keywords: Degree of M -fuzzy family of independent L -fuzzy sets, M -fuzzy family of independent L -fuzzy sets, (L, M) -fuzzy matroid.

1 Introduction

In 1935, Whitney introduced Matroid theory [42]. Since then, Birkhoff et al [4, 6, 27, 36] have made further development of matroid theory. Nowadays matroid theory has quite rich contents [41, 28]. There exists a deep connection between matroid theory and convexity theory. If we consider the close set of matroids as convex sets of a finite convex space, then matroids are actually finite convex spaces.

In the middle of the 20th, it was found that many mathematical structures can naturally introduce convex sets [2, 3, 37]. The emergence of axiomatic methods prompted mathematicians to abstractly summarize the properties of convex sets. This leads to generation and development of abstract convex structures theory [3, 5, 37].

With the development of fuzzy mathematics, matroid and convexity have been endowed with fuzzy set theory firstly introduced by Zadeh in 1965 [53].

In the fuzzy convexity of Rosa-Maruyama, the convex set is fuzzy, but the convexity is a crisp subset of I^X or L^X . In 2014, Shi and Xiu [35] proposed the concept of M -fuzzifying convexity which is a new approach to the fuzzification of convex structures. In addition, Shi and Xiu introduced the concept of (L, M) -fuzzy convexity in [50]. So far, there are many other praising work on fuzzy convexity [33, 51, 43, 29].

Goetsche and Voxmar [9] introduced the fuzzy matroid (We call it GV matroid) for the first time in 1988. Their processing method uses a distinct number to describe the potential of support set. In GV matroid theory, an independent structure is a crisp family of fuzzy sets. Subsequently, many concept of GV matroids were proposed and studied [10, 11, 12, 13, 14, 15]. In 2010, Li et al [19] defined refined GV matroids, established the transitivity theorem based on fuzzy circuits and studied the connectedness of GV matroid and refined GV matroids. In 2017 Li and Yi [22] studied some properties and relations of three different kinds of fuzzification for independent systems [9, 7, 17]. In the same year, Li et al [21] introduced three-way decision matroids and a fuzzy independent set system is generated from this.

In 2009, Shi proposed a new fuzzification of matroid theory, namely, M -fuzzifying matroid [31], whose independent structure is a fuzzy family of crisp sets. The study on this topic has achieved rich results. Many concepts in matroids theory have been successfully extended to the M -fuzzifying matroids [20, 23, 34, 39, 40, 26, 44, 48, 49, 52]. A more general fuzzy theory of matroids, (L, M) -fuzzy matroids, is given in 2009 by Shi [32]. Independent structures in this

theory are fuzzy families of fuzzy sets. When $M = \{0, 1\}$, this kind of fuzzy matroids can be regarded as L -matroids. We notice that there are many studies on L -matroids [18, 24, 45, 46, 47].

The view of degree is widely used in many fields, such as fuzzification of topology category which requires to fuzzify objects and morphisms. Ghareeb and Al-omeri [8] discussed the notions of semi-openness, semi-continuity, preopenness, precontinuity, irresolutness and preirresolutness degree of functions in (L, M) -fuzzy topological spaces based on the implication operation. In 2018, Zhong and Shi [54] gave a definition of the degrees to which a mapping is continuous, open, closed or a quotient mapping with respect to the (L, M) -fuzzy topology degrees. In 2014, Liang and Shi [25] introduced the degree to which a mapping is continuous, open or closed in (L, M) -fuzzy topological spaces by using implication operation. In 2018, Al-Omeri, Khalil and Ghareeb [1] discussed the degree of semi-preopenness, semi-precontinuity, and semi-preirresoluteness for functions in (L, M) -fuzzy pretopology.

In this paper, we will define the degree of (L, M) -fuzzy independent structure to a mapping; this is a generalization of (L, M) -fuzzy independent structures. Then we prove this concept still satisfies some axioms of (L, M) -fuzzy matroids. Next, two kinds of special degrees to a mapping (i.e. the quotient degree to a surjective mapping and the isomorphism degree to a bijective mapping) are defined. Moreover we discuss their characterizations and relationships.

2 Preliminaries

In this paper, unless otherwise stated, (L, \vee, \wedge) and (M, \vee, \wedge) are completely distributive lattices [38]. The smallest element and the largest element in M are denoted by \top_M and \perp_M , respectively. X is a non-empty set. We denote the set of all subsets of X by 2^X and denote the set of all L -subsets of X by L^X . The largest element and the smallest element in L^X are denoted by \top_{L^X} and \perp_{L^X} respectively.

An element a in L is called a prime element if $a \geq b \wedge c$ implies $a \geq b$ or $a \geq c$. a in L is called co-prime if $a \leq b \vee c$ implies $a \leq b$ or $a \leq c$. The set of non-unit prime elements in L is denoted by $P(L)$. The set of non-zero co-prime elements in L is denoted by $Cop(L)$.

The binary relation \triangleleft in L is defined as follows: for $a, b \in L$, $a \triangleleft b$ if and only if $\forall D \subseteq L$, the relation $b \leq \sup D$ implies the $\exists d \in D$ s.t. $a \leq d$ [38]. $\beta(b) = \{a \in L \mid a \triangleleft b\}$ is called the greatest minimal family of b in the sense of [38], and $\beta^*(b) = \beta(b) \cap Cop(L)$. Moreover, the binary relation \triangleleft^{op} in L is defined as follows: for $a, b \in L$, $a \triangleleft^{op} b$ if and only if $\forall D \subseteq L$, the relation $b \geq \inf D$ implies $\exists d \in D$ s.t. $a \geq d$. $\alpha(b) = \{a \in L \mid a \triangleleft^{op} b\}$ is called the greatest maximal family of b in the sense of [38]. In a completely distributive lattice L , $\alpha(b)$, $\beta(b)$ are exists, and $b = \bigvee \beta(b) = \bigwedge \alpha(b)$ [38].

Lemma 2.1. [38] *Let L be a completely distributive lattice and $\{a_i \mid i \in I\} \subseteq L$. Then*

- (1) $\beta\left(\bigvee_{i \in I} a_i\right) = \bigcup_{i \in I} \beta(a_i)$, i.e., β is an union-preserving mapping.
- (2) $\alpha\left(\bigwedge_{i \in I} a_i\right) = \bigcup_{i \in \omega} \alpha(a_i)$, i.e., α is an $\wedge - \cup$ mapping.

Definition 2.2. [30] *Let $A \in L^X$, $a \in L$. Define*

$$\begin{aligned} A_{[a]} &= \{x \in X \mid A(x) \geq a\}, & A_{(a)} &= \{x \in X \mid a \in \beta(A(x))\}, \\ A^{[a]} &= \{x \in X \mid a \notin \alpha(A(x))\}, & A^{(a)} &= \{x \in X \mid (A(x) \not\leq a)\}. \end{aligned}$$

Definition 2.3. [32] *Let E be a finite set. A mapping $\mathcal{I} : L^E \rightarrow M$ is called an M -fuzzy family of independent L -fuzzy sets on E if it satisfies the following three conditions:*

$$(LMFI1) \quad \mathcal{I}(\chi_\emptyset) = \top_M.$$

$$(LMFI2) \quad \text{For any } A, B \in L^E, \text{ if } A \subseteq B, \text{ then } \mathcal{I}(A) \geq \mathcal{I}(B).$$

$$(LMFI3) \quad \text{If } b = |B|(n) \not\leq |A|(n) \text{ for } A, B \in L^E \text{ and for some } n \in \mathbb{N}, \text{ then}$$

$$\bigvee_{e \in F(A, B)} \mathcal{I}((b \wedge A_{[b]}) \cup e_b) \geq \mathcal{I}(A) \wedge \mathcal{I}(B).$$

If \mathcal{I} is an M -fuzzy family of independent L -fuzzy sets on E , then the pair (E, \mathcal{I}) is called an (L, M) -fuzzy matroid.

Remark 2.4. *For an (L, M) -fuzzy matroid, if $L = \{0, 1\}$, then it become an M -fuzzifying matroid [31]; if $M = \{0, 1\}$, then it become an L -matroid [32]; if $L = M = \{0, 1\}$, then it become a matroid [41].*

Theorem 2.5. [32] *Let E be a finite set, and $\mathcal{I} : L^E \rightarrow M$ a mapping. Then the following conditions are equivalent:*

- (1) (E, \mathcal{I}) is an (L, M) -fuzzy matroid.
- (2) For each $a \in \text{Cop}(M)$, $(E, \mathcal{I}_{[a]})$ is an L -matroid.
- (3) For each $a \in P(M)$, $(E, \mathcal{I}^{(a)})$ is an L -matroid.

We can define a residual implication by $a \rightarrow b = \bigvee \{c \in M \mid a \wedge c \leq b\}$ in M . Also, we denote $a \leftrightarrow b = (b \rightarrow a) \wedge (a \rightarrow b)$. Some properties of the implication operation are listed in the following lemma.

Lemma 2.6. [16] *Let (M, \vee, \wedge) be a completely distributive lattice, and \rightarrow the implication operation corresponding to \wedge . Then the following statements hold ($a, b, c \in M$, $\{a_i\}_{i \in I}$, $\{b_i\}_{i \in I} \subseteq M$):*

- (a) $\top_M \rightarrow a = a$.
- (b) $(a \rightarrow b) \geq c \iff a \wedge c \leq b$.
- (c) $a \rightarrow b = \top_M \iff a \leq b$.
- (d) $a \rightarrow (\bigwedge_{i \in I} b_i) = \bigwedge_{i \in I} (a \rightarrow b_i)$, hence $a \rightarrow b \leq a \rightarrow c$ whenever $b \leq c$.
- (e) $(\bigvee_{i \in I} a_i) \rightarrow b = \bigwedge_{i \in I} (a_i \rightarrow b)$, hence $a \rightarrow c \geq b \rightarrow c$ whenever $a \leq b$.
- (f) $(a \rightarrow c) \wedge (c \rightarrow b) \leq a \rightarrow b$.

3 Degree of M -fuzzy family of independent L -fuzzy sets

In this section, we will define the degree to which a mapping $\mathcal{I} : L^E \rightarrow M$ is an M -fuzzy family of independent L -fuzzy sets, and discuss its characterizations.

Definition 3.1. *Let E be a finite set, $\mathcal{I} : L^E \rightarrow M$ a mapping, and $D(\mathcal{I}) = D_1(\mathcal{I}) \wedge D_2(\mathcal{I}) \wedge D_3(\mathcal{I})$, where $D_1(\mathcal{I}) = \mathcal{I}(\chi_\emptyset)$,*

$$D_2(\mathcal{I}) = \bigwedge_{\substack{A, B \in L^E \\ A \subseteq B}} \mathcal{I}(B) \rightarrow \mathcal{I}(A),$$

$$D_3(\mathcal{I}) = \bigwedge_{A, B \in L^E} \bigvee_{\substack{n \in \mathbb{N} \\ b = |B|(n) \not\leq |A|(n)}} \bigvee_{e \in F(A, B)} \mathcal{I}(A) \wedge \mathcal{I}(B) \rightarrow \mathcal{I}((b \wedge A_{[b]}) \cup e_b).$$

Then $D(\mathcal{I})$ is called the degree to which \mathcal{I} is an M -fuzzy family of independent L -fuzzy sets, or the degree of an M -fuzzy family of independent L -fuzzy sets with respect to \mathcal{I} .

It is not difficult to verify that $D(\mathcal{I}) = \top_M$ if and only if \mathcal{I} is an M -fuzzy family of independent L -fuzzy sets. Take $M = [0, 1]$ and $\mathcal{I}(A) = 0.5$ ($\forall A \in L^E$), then we have $D(\mathcal{I}) \neq \top_M$.

Theorem 3.2. *Let E be a finite set, $\mathcal{I} : L^E \rightarrow M$ a mapping. Then*

$$D(\mathcal{I}) = \bigvee \{a \in M \mid \forall u \in \beta(a), \mathcal{I}_{[u]} \text{ is a family of independent } L\text{-fuzzy sets}\}.$$

Proof. Assume $a \in M$ with $a \leq D(\mathcal{I})$. Then $a \leq D_i(\mathcal{I})$ ($i = 1, 2, 3$). For each $u \triangleleft a$, as $a \leq D_1(\mathcal{I})$ and $u \triangleleft a$ (thus $u \leq a$), we have $u \leq D_1(\mathcal{I})$, which means $\chi_\emptyset \in \mathcal{I}_{[u]}$. Since $a \leq D_2(\mathcal{I})$, we have $a \leq \mathcal{I}(B) \rightarrow \mathcal{I}(A)$ for any $A, B \in L^E$ satisfying $A \subseteq B$. By Lemma 2.6, $\mathcal{I}(B) \wedge a \leq \mathcal{I}(A)$. If $B \in \mathcal{I}_{[u]}$, then $u \leq \mathcal{I}(B) \wedge a \leq \mathcal{I}(A)$, which means $A \in \mathcal{I}_{[u]}$. As $u \triangleleft a \leq D_3(\mathcal{I})$, we have $(\forall A, B \in L^E)$

$$a \leq \bigvee_{\substack{n \in \mathbb{N} \\ b = |B|(n) \not\leq |A|(n)}} \bigvee_{e \in F(A, B)} \mathcal{I}(A) \wedge \mathcal{I}(B) \rightarrow \mathcal{I}((b \wedge A_{[b]}) \cup e_b).$$

Analogously,

$$v \triangleleft \bigvee_{\substack{n \in \mathbb{N} \\ b = |B|(n) \not\leq |A|(n)}} \bigvee_{e \in F(A, B)} \mathcal{I}(A) \wedge \mathcal{I}(B) \rightarrow \mathcal{I}((b \wedge A_{[b]}) \cup e_b) \quad (\forall A, B \in L^E).$$

As β is union-preserving (see Lemma 2.1), for any $A, B \in L^E$, there exists an $n \in \mathbb{N}$, a $b = |B|(n) \not\leq |A|(n)$, and $e \in F(A, B)$, such that $u \triangleleft (\mathcal{I}(A) \wedge \mathcal{I}(B) \rightarrow \mathcal{I}((b \wedge A_{[b]}) \cup e_b))$, which implies $u \leq (\mathcal{I}(A) \wedge \mathcal{I}(B) \rightarrow \mathcal{I}((b \wedge A_{[b]}) \cup e_b))$. By Lemma 2.6, $\mathcal{I}(A) \wedge \mathcal{I}(B) \wedge u \leq \mathcal{I}((b \wedge A_{[b]}) \cup e_b)$. It follows that, for any $A, B \in \mathcal{I}_{[u]}$ (i.e. $u \leq \mathcal{I}(A) \wedge \mathcal{I}(B)$), there exists an $n \in \mathbb{N}$, a $b = |B|(n) \not\leq |A|(n)$, and an $e \in F(A, B)$, such that $u = u \wedge \mathcal{I}(A) \wedge \mathcal{I}(B) \leq \mathcal{I}((b \wedge A_{[b]}) \cup e_b)$, i.e., $(b \wedge A_{[b]}) \cup e_b \in \mathcal{I}_{[u]}$. Since a is arbitrary, $D(\mathcal{I})$ is not greater than right-hand side.

Conversely, suppose that, for each $u \in \beta(a)$, $\mathcal{I}_{[u]}$ is a family of independent L -fuzzy sets. As $\chi_\emptyset \in \mathcal{I}_{[u]}$, $u \leq \mathcal{I}(\chi_\emptyset)$. If $A, B \in L^E$ with $A \subseteq B$ and $B \in \mathcal{I}_{[u]}$, then $A \in \mathcal{I}_{[u]}$. We have $u = \mathcal{I}(B) \wedge u \leq \mathcal{I}(A)$. By Lemma 2.6, $u \leq \mathcal{I}(B) \rightarrow \mathcal{I}(A)$, i.e.,

$$u \leq \bigwedge_{\substack{A, B \in L^E \\ A \subseteq B}} \mathcal{I}(B) \rightarrow \mathcal{I}(A).$$

If for any $A, B \in \mathcal{I}_{[u]}$ and $b = |B|(n) \not\leq |A|(n)$ (for some $n \in \mathbb{N}$), there exist an $e \in F(A, B)$ such that $(b \wedge A_{[b]}) \cup e_b \in \mathcal{I}_{[u]}$. Then $u = \mathcal{I}(A) \wedge \mathcal{I}(B) \wedge u \leq \mathcal{I}((b \wedge A_{[b]}) \cup e_b)$. By Lemma 2.6, $u \leq \mathcal{I}(A) \wedge \mathcal{I}(B) \rightarrow \mathcal{I}((b \wedge A_{[b]}) \cup e_b)$. So we have

$$u \leq \bigwedge_{A, B \in L^E} \bigvee_{\substack{n \in \mathbb{N} \\ b = |B|(n) \not\leq |A|(n)}} \bigvee_{e \in F(A, B)} \mathcal{I}(A) \wedge \mathcal{I}(B) \rightarrow \mathcal{I}((b \wedge A_{[b]}) \cup e_b).$$

By arbitrariness of u and $a = \bigvee \beta(a)$, we know $a \leq D_i(\mathcal{I})$ for $i = 1, 2, 3$. Thus, the right-hand side is not greater than $D(\mathcal{I})$. \square

In Definition 3.1 and Theorem 3.2, if let $L = \{0, 1\}$, then LMF3 is equal to MF3 [32]. So we can define the degree of M -fuzzy family of independent sets and its characterization. The next concept is a kind of independent degree of an L -fuzzy set.

Definition 3.3. Let $\mathcal{I} : L^E \rightarrow M$. For each $A \in L^E$, $M_{\mathcal{I}}(A) = D(\mathcal{I}) \wedge \mathcal{I}(A)$ is called the degree of A is an independent L -fuzzy set with respect to \mathcal{I} or the independent L -fuzzy set degree of A with respect to \mathcal{I} .

Remark 3.4. If $D(\mathcal{I}) = \top_M$ (it means \mathcal{I} is an M -fuzzy family of independent L -fuzzy sets), then $M_{\mathcal{I}}(A) = \mathcal{I}(A)$. So we can regard it as a generalization of the degree of M -fuzzy family of independent L -fuzzy sets.

Theorem 3.5. Let $\mathcal{I} : L^E \rightarrow M$ be a mapping, $M_{\mathcal{I}}(A)$ be defined as in Definition 3.3 ($A \in L^E$). Then

- (1) $M_{\mathcal{I}}(\{\chi_\emptyset\}) = D(\mathcal{I})$.
- (2) For any $A, B \in L^E$, if $A \subseteq B$, then $M_{\mathcal{I}}(B) \leq M_{\mathcal{I}}(A)$.
- (3) For any $A, B \in L^E$, if $b = |B|(n) \not\leq |A|(n)$ for some $n \in \mathbb{N}$, then

$$\bigvee_{e \in F(A, B)} M_{\mathcal{I}}((b \wedge A_{[b]}) \cup e_b) \geq M_{\mathcal{I}}(A) \wedge M_{\mathcal{I}}(B).$$

Proof. (1) Obviously.

(2) For each $A, B \in L^E$ with $A \subseteq B$, since

$$M_{\mathcal{I}}(B) = D(\mathcal{I}) \wedge \mathcal{I}(B) \leq D_2(\mathcal{I}) \wedge \mathcal{I}(B) = \left(\bigwedge_{\substack{H, K \in L^E \\ H \subseteq K}} \mathcal{I}(K) \rightarrow \mathcal{I}(H) \right) \wedge \mathcal{I}(B) \leq (\mathcal{I}(B) \rightarrow \mathcal{I}(A)) \wedge \mathcal{I}(B),$$

$(\mathcal{I}(B) \rightarrow \mathcal{I}(A)) \wedge \mathcal{I}(B) \leq \mathcal{I}(A)$ by Lemma 2.6 ($a \wedge (a \rightarrow b) \leq b$). Thus, for each $A, B \in L^E$ with $A \subseteq B$, we have $M_{\mathcal{I}}(B) \leq \mathcal{I}(A)$. As $M_{\mathcal{I}}(B) \leq D(\mathcal{I})$, $M_{\mathcal{I}}(B) \leq M_{\mathcal{I}}(A)$.

(3) For each $A, B \in L^E$ with $|B|(n) \not\leq |A|(n)$ for some $n \in \mathbb{N}$, we have

$$\begin{aligned}
M_{\mathcal{I}}(A) \wedge M_{\mathcal{I}}(B) &= D(\mathcal{I}) \wedge \mathcal{I}(A) \wedge \mathcal{I}(B) \leq D_3(\mathcal{I}) \wedge \mathcal{I}(A) \wedge \mathcal{I}(B) \\
&= \mathcal{I}(A) \wedge \mathcal{I}(B) \wedge \\
&\quad \bigwedge_{H, K \in L^E} \bigvee_{\substack{n \in \mathbb{N} \\ b = |K|(n) \not\leq |H|(n)}} \bigvee_{e \in F(H, K)} \mathcal{I}(H) \wedge \mathcal{I}(K) \rightarrow \mathcal{I}((b \wedge H_{[b]}) \cup e_b) \\
&\leq \mathcal{I}(A) \wedge \mathcal{I}(B) \wedge \bigvee_{\substack{n \in \mathbb{N} \\ b = |B|(n) \not\leq |A|(n)}} \bigvee_{e \in F(A, B)} \mathcal{I}(A) \wedge \mathcal{I}(B) \rightarrow \mathcal{I}((b \wedge A_{[b]}) \cup e_b) \\
&= \bigvee_{\substack{n \in \mathbb{N} \\ b = |B|(n) \not\leq |A|(n)}} \bigvee_{e \in F(A, B)} \mathcal{I}(A) \wedge \mathcal{I}(B) \wedge \left(\mathcal{I}(A) \wedge \mathcal{I}(B) \rightarrow \mathcal{I}((b \wedge A_{[b]}) \cup e_b) \right) \\
&\leq \bigvee_{\substack{n \in \mathbb{N} \\ b = |B|(n) \not\leq |A|(n)}} \bigvee_{e \in F(A, B)} \mathcal{I}((b \wedge A_{[b]}) \cup e_b) \quad (\text{by Lemma 2.6}).
\end{aligned}$$

For each $a \leq (M_{\mathcal{I}}(A) \wedge M_{\mathcal{I}}(B))$ and each $u \triangleleft a$, we have

$$a \leq \bigvee_{\substack{n \in \mathbb{N} \\ b = |B|(n) \not\leq |A|(n)}} \bigvee_{e \in F(A, B)} \mathcal{I}((b \wedge A_{[b]}) \cup e_b).$$

Thus

$$u \triangleleft \bigvee_{\substack{n \in \mathbb{N} \\ b = |B|(n) \not\leq |A|(n)}} \bigvee_{e \in F(A, B)} \mathcal{I}((b \wedge A_{[b]}) \cup e_b).$$

As β is union-preserving, there exists an $n \in \mathbb{N}$ and a $b = |B|(n) \not\leq |A|(n)$ such that

$$u \triangleleft \bigvee_{e \in F(A, B)} \mathcal{I}((b \wedge A_{[b]}) \cup e_b).$$

Thus

$$u \leq \bigvee_{e \in F(A, B)} \mathcal{I}((b \wedge A_{[b]}) \cup e_b).$$

As $a = \bigvee \beta(a)$ and arbitrariness of u and a , we know

$$M_{\mathcal{I}}(A) \wedge M_{\mathcal{I}}(B) \leq \bigvee_{e \in F(A, B)} \mathcal{I}((b \wedge A_{[b]}) \cup e_b).$$

As $M_{\mathcal{I}}(A) \wedge M_{\mathcal{I}}(B) \leq D(\mathcal{I})$, for some $n \in \mathbb{N}$ and $b = |B|(n) \not\leq |A|(n)$,

$$M_{\mathcal{I}}(A) \wedge M_{\mathcal{I}}(B) \leq D(\mathcal{I}) \wedge \bigvee_{e \in F(A, B)} \mathcal{I}((b \wedge A_{[b]}) \cup e_b) = \bigvee_{e \in F(A, B)} M_{\mathcal{I}}((b \wedge A_{[b]}) \cup e_b).$$

□

It can be seen that a mapping $M_{\mathcal{I}} : L^E \rightarrow M$ defined by Definition 3.3 satisfies (LMFI2) and (LMFI3).

Theorem 3.6. *Let E be a finite set, $\mathcal{I} : L^E \rightarrow M$ a mapping, $M_{\mathcal{I}}$ the independent L -fuzzy set degree of A with respect to \mathcal{I} . Then*

$$M_{\mathcal{I}}(D) = \bigvee \{a \in M \mid \forall u \in \beta(a), \mathcal{I}_{[u]} \text{ is a family of independent } L\text{-fuzzy sets and } A \in \mathcal{I}_{[a]}\}.$$

Proof. It follows from Definition 3.3 and Theorem 3.2. □

4 Degree of two kinds of special mappings

Mappings from a matroid (X, \mathcal{I}_X) to another matroid (Y, \mathcal{I}_Y) are called weak mappings [41] provided that $B \in \mathcal{I}_Y$ implies $f^{\leftarrow}(B) \in \mathcal{I}_X$. Some mappings map independent sets to independent sets, i.e. $A \in \mathcal{I}_X$ implicates $f(A) \in \mathcal{I}_Y$. In this section, we define two kinds of degrees of these spacial properties. Unless otherwise stated, X, Y are finite sets.

Definition 4.1. Let $\mathcal{I}_X : L^X \rightarrow M$, $\mathcal{I}_Y : L^Y \rightarrow M$, and $f : X \rightarrow Y$ be mappings. Then

(1) The weak degree of f with respect to \mathcal{I}_X and \mathcal{I}_Y is defined by

$$RI(f) = \bigwedge_{B \in L^X} \left(M_{\mathcal{I}_Y}(B) \rightarrow M_{\mathcal{I}_X}(f^{\leftarrow}(B)) \right).$$

(2) The independent-to-independent degree of f with respect to \mathcal{I}_X and \mathcal{I}_Y is defined by

$$II(f) = \bigwedge_{A \in L^X} \left(M_{\mathcal{I}_X}(A) \rightarrow M_{\mathcal{I}_Y}(f^{\rightarrow}(A)) \right).$$

Theorem 4.2. Given two mappings $\mathcal{I}_X : L^X \rightarrow M$ and $\mathcal{I}_Y : L^Y \rightarrow M$, Let $D(\mathcal{I}_X)$ and $D(\mathcal{I}_Y)$ denote the degree of M -fuzzy family of independent L -fuzzy sets with respect to \mathcal{I}_X and \mathcal{I}_Y . Then

$$(1) RI(f) = \bigvee \{ a \in M \mid D(\mathcal{I}_Y) \wedge \mathcal{I}_Y(B) \wedge a \leq D(\mathcal{I}_X) \wedge \mathcal{I}_X(f^{\leftarrow}(B)), \forall B \in L^X \}.$$

$$(2) RI(f) = \bigvee \left\{ a \in M \mid \begin{array}{l} \forall b \leq D(\mathcal{I}_Y) \wedge a, \forall B \in (\mathcal{I}_Y)_{[b]}, \\ b \leq D(\mathcal{I}_X), f^{\leftarrow}(B) \in (\mathcal{I}_X)_{[b]} \end{array} \right\}.$$

$$(3) RI(f) = \bigvee \left\{ a \in M \mid \begin{array}{l} \forall b \notin \alpha(D(\mathcal{I}_Y) \wedge a), \forall B \in (\mathcal{I}_Y)^{[b]}, \\ b \notin \alpha(D(\mathcal{I}_X)), f^{\leftarrow}(B) \in (\mathcal{I}_X)^{[b]} \end{array} \right\}.$$

Proof. (1) For each $a \in M$, $a \leq RI(f)$ if and only if for each $B \in L^Y$, $a \leq M_{\mathcal{I}_Y}(B) \rightarrow M_{\mathcal{I}_X}(f^{\leftarrow}(B))$, which means $M_{\mathcal{I}_Y}(B) \wedge a \leq M_{\mathcal{I}_X}(f^{\leftarrow}(B))$. Thus $D(\mathcal{I}_Y) \wedge \mathcal{I}_Y(B) \wedge a \leq D(\mathcal{I}_X) \wedge \mathcal{I}_X(f^{\leftarrow}(B))$.

(2) By (1), for each a satisfies $D(\mathcal{I}_Y) \wedge \mathcal{I}_Y(B) \wedge a \leq D(\mathcal{I}_X) \wedge \mathcal{I}_X(f^{\leftarrow}(B))$ (for any $B \in L^X$), if $b \leq D(\mathcal{I}_Y) \wedge a$ and $B \in (\mathcal{I}_Y)_{[b]}$ (i.e., $b \leq \mathcal{I}_Y(B)$), then $b \leq D(\mathcal{I}_X) \wedge \mathcal{I}_X(f^{\leftarrow}(B))$, which means $b \leq D(\mathcal{I}_X)$ and $f^{\leftarrow}(B) \in (\mathcal{I}_X)_{[b]}$. Hence we have $RI(f)$ is not greater than the right-hand side.

Conversely, for each $a \in M$, if $b \leq D(\mathcal{I}_Y) \wedge \mathcal{I}_Y(B) \wedge a$, then $b \leq D(\mathcal{I}_Y) \wedge a$ and $b \leq \mathcal{I}_Y(B)$, i.e., $B \in (\mathcal{I}_Y)_{[b]}$. Thus $b \leq D(\mathcal{I}_X)$ and $f^{\leftarrow}(B) \in (\mathcal{I}_X)_{[b]}$, i.e., $\mathcal{I}_X(f^{\leftarrow}(B)) \geq b$, which means $D(\mathcal{I}_X) \wedge \mathcal{I}_X(f^{\leftarrow}(B)) \geq b$. For arbitrariness of $b \in M$, we know $D(\mathcal{I}_Y) \wedge \mathcal{I}_Y(B) \wedge a \leq D(\mathcal{I}_X) \wedge \mathcal{I}_X(f^{\leftarrow}(B))$, and combining with (1), the right-hand side is not greater than $RI(f)$.

(3) Suppose $a \in M$ satisfying $D(\mathcal{I}_Y) \wedge \mathcal{I}_Y(B) \wedge a \leq D(\mathcal{I}_X) \wedge \mathcal{I}_X(f^{\leftarrow}(B))$ (for any $B \in L^X$), for each $B \in (\mathcal{I}_Y)^{[b]}$, if $b \notin \alpha(D(\mathcal{I}_Y) \wedge a)$, then $b \notin \alpha(D(\mathcal{I}_Y) \cup a)$ (by Lemma 2.1), and for $b \notin \alpha(\mathcal{I}_Y(B))$, by Lemma 2.1, $b \notin \alpha(D(\mathcal{I}_Y) \wedge \mathcal{I}_Y(B) \wedge a)$. Since (1) and α is order-reserving, $b \notin \alpha(D(\mathcal{I}_X) \wedge \mathcal{I}_X(f^{\leftarrow}(B)))$, we can know $b \notin \alpha(D(\mathcal{I}_X)) \cup \alpha(\mathcal{I}_X(f^{\leftarrow}(B)))$, which means $RI(f)$ is not greater than the right-hand side.

Conversely, for each $a \in M$, if $b \notin \alpha(D(\mathcal{I}_Y) \wedge a)$ and $b \notin \alpha(\mathcal{I}_Y(B))$, then $b \notin \alpha(D(\mathcal{I}_Y) \wedge \mathcal{I}_Y(B) \wedge a)$, which implies $b \notin \alpha(D(\mathcal{I}_X))$ and $f^{\leftarrow}(B) \in (\mathcal{I}_X)^{[b]}$. Thus $b \notin \alpha(D(\mathcal{I}_X) \wedge \mathcal{I}_X(f^{\leftarrow}(B)))$. As $x \notin \alpha(S)$ implies $x \notin \alpha(T)$ (i.e. $x \in \alpha(T)$ implies $x \in \alpha(S)$), $S \leq T$. It follows $D(\mathcal{I}_Y) \wedge \mathcal{I}_Y(B) \wedge a \leq D(\mathcal{I}_X) \wedge \mathcal{I}_X(f^{\leftarrow}(B))$, which means the right-hand side is not greater than $RI(f)$. \square

Theorem 4.3. Given two mappings $\mathcal{I}_X : L^X \rightarrow M$ and $\mathcal{I}_Y : L^Y \rightarrow M$, Let $D(\mathcal{I}_X)$ and $D(\mathcal{I}_Y)$ denote the degree of M -fuzzy family of independent L -fuzzy sets with respect to \mathcal{I}_X and \mathcal{I}_Y . Then

$$(1) II(f) = \bigvee \{ a \in M \mid D(\mathcal{I}_X) \wedge \mathcal{I}_X(A) \wedge a \leq D(\mathcal{I}_Y) \wedge \mathcal{I}_Y(f^{\rightarrow}(A)), \forall A \in L^X \}.$$

$$(2) II(f) = \bigvee \left\{ a \in M \mid \begin{array}{l} \forall b \leq D(\mathcal{I}_X) \wedge a, \forall A \in (\mathcal{I}_X)_{[b]}, \\ b \leq D(\mathcal{I}_Y), f^{\rightarrow}(A) \in (\mathcal{I}_Y)_{[b]} \end{array} \right\}.$$

$$(3) II(f) = \bigvee \left\{ a \in M \mid \begin{array}{l} \forall b \notin \alpha(D(\mathcal{I}_X) \wedge a), \forall A \in (\mathcal{I}_X)^{[b]}, \\ b \notin \alpha(D(\mathcal{I}_Y)), f^{\rightarrow}(A) \in (\mathcal{I}_Y)^{[b]} \end{array} \right\}.$$

The proof is similar to Theorem 4.2.

Definition 4.4. Given two mappings $\mathcal{I}_X : L^X \rightarrow M$, $\mathcal{I}_Y : L^Y \rightarrow M$. Let $f : X \rightarrow Y$ be a bijective mapping. Then the isomorphism degree of f with respect to \mathcal{I}_X and \mathcal{I}_Y defined by $ISO(f) = RI(f) \wedge RI(f^{-1})$, where f^{-1} is the inverse mapping of f .

Theorem 4.5. Given two mappings $\mathcal{I}_X : L^X \rightarrow M$, $\mathcal{I}_Y : L^Y \rightarrow M$. Let $f : X \rightarrow Y$ be a bijective mapping. Then $RI(f^{-1}) = II(f)$ and $ISO(f) = RI(f) \wedge RI(f^{-1}) = RI(f) \wedge II(f)$.

Proof. As f is bijective, $(f^{-1})_L^{\leftarrow}(A) = f_L^{\rightarrow}(A)$ (for each $A \in L^X$), then

$$RI(f^{-1}) = \bigwedge_{A \in L^X} \left(M_{\mathcal{I}_X}(A) \rightarrow M_{\mathcal{I}_Y}((f^{-1})_L^{\leftarrow}(A)) \right) = \bigwedge_{A \in L^X} \left(M_{\mathcal{I}_X}(A) \rightarrow M_{\mathcal{I}_Y}(f_L^{\rightarrow}(A)) \right) = II(f).$$

Hence $ISO(f) = RI(f) \wedge RI(f^{-1}) = RI(f) \wedge II(f)$. \square

Theorem 4.6. Given three mappings $\mathcal{I}_X : L^X \rightarrow M$, $\mathcal{I}_Y : L^Y \rightarrow M$, $\mathcal{I}_Z : L^Z \rightarrow M$. Let $f : X \rightarrow Y$ and $g : Y \rightarrow Z$ be mappings. Then

- (1) $II(f) \wedge RI(g) \leq RI(g \circ f)$.
- (2) $II(f) \wedge II(g) \leq II(g \circ f)$.
- (3) if f, g are bijective, then $ISO(f) \wedge ISO(g) \leq ISO(g \circ f)$.

Proof. (1) $(g \circ f)_L^{\leftarrow}(D) = f_L^{\leftarrow}(g_L^{\leftarrow}(D))$ for any $D \in L^Z$. By Lemma 2.6, we know

$$\begin{aligned} RI(f) \wedge RI(g) &= \left(\bigwedge_{B \in 2^Y} \left(M_{\mathcal{I}_Y}(B) \rightarrow M_{\mathcal{I}_X}(f_L^{\leftarrow}(B)) \right) \right) \wedge \left(\bigwedge_{C \in L^Z} \left(M_{\mathcal{I}_Z}(C) \rightarrow M_{\mathcal{I}_Y}(g_L^{\leftarrow}(C)) \right) \right) \\ &\leq \left(\bigwedge_{D \in L^Z} \left(M_{\mathcal{I}_Y}(g_L^{\leftarrow}(D)) \rightarrow M_{\mathcal{I}_X}(f_L^{\leftarrow}(g_L^{\leftarrow}(D))) \right) \right) \wedge \left(\bigwedge_{C \in L^Z} \left(M_{\mathcal{I}_Z}(C) \rightarrow M_{\mathcal{I}_Y}(g_L^{\leftarrow}(C)) \right) \right) \\ &= \left(\bigwedge_{D \in L^Z} \left(M_{\mathcal{I}_Y}(g_L^{\leftarrow}(D)) \rightarrow M_{\mathcal{I}_X}(g \circ f)_L^{\leftarrow}(D) \right) \right) \wedge \left(\bigwedge_{C \in L^Z} \left(M_{\mathcal{I}_Z}(C) \rightarrow M_{\mathcal{I}_Y}(g_L^{\leftarrow}(C)) \right) \right) \\ &= \bigwedge_{C \in L^Z} \left(\left(M_{\mathcal{I}_Y}(g_L^{\leftarrow}(C)) \rightarrow M_{\mathcal{I}_X}((g \circ f)_L^{\leftarrow}(C)) \right) \wedge \left(M_{\mathcal{I}_Z}(C) \rightarrow M_{\mathcal{I}_Y}(g_L^{\leftarrow}(C)) \right) \right) \\ &\leq \bigwedge_{C \in L^Z} \left(M_{\mathcal{I}_Z}(C) \rightarrow M_{\mathcal{I}_X}(g \circ f)_L^{\leftarrow}(C) \right) = RI(g \circ f). \end{aligned}$$

The proof to (2) and (3) is similar. \square

Theorem 4.7. Given three mappings $\mathcal{I}_X : L^X \rightarrow M$, $\mathcal{I}_Y : L^Y \rightarrow M$, $\mathcal{I}_Z : L^Z \rightarrow M$. Let $f : X \rightarrow Y$ and $g : Y \rightarrow Z$ be mappings. Then

- (1) If f is surjective, then $RI(f) \wedge II(g \circ f) \leq II(g)$.
- (2) If g is injective, then $RI(g) \wedge II(g \circ f) \leq II(f)$.

Proof. (1) f is surjective, so $f_L^{\rightarrow}(f_L^{\leftarrow}(D)) = D \ \forall D \in L^Y$. Then $(g \circ f)_L^{\rightarrow}(f_L^{\leftarrow}(D)) = g_L^{\rightarrow}(f_L^{\rightarrow}(f_L^{\leftarrow}(D))) = g_L^{\rightarrow}(D)$. By Lemma 2.6, we know

$$\begin{aligned} RI(f) \wedge II(g \circ f) &= \left(\bigwedge_{B \in L^Y} \left(M_{\mathcal{I}_Y}(B) \rightarrow M_{\mathcal{I}_X}(f_L^{\leftarrow}(B)) \right) \right) \wedge \left(\bigwedge_{A \in L^Z} \left(M_{\mathcal{I}_X}(A) \rightarrow M_{\mathcal{I}_Z}((g \circ f)_L^{\rightarrow}(A)) \right) \right) \\ &\leq \left(\bigwedge_{B \in L^Y} \left(M_{\mathcal{I}_Y}(B) \rightarrow M_{\mathcal{I}_X}(f_L^{\leftarrow}(B)) \right) \right) \wedge \left(\bigwedge_{D \in L^Y} \left(M_{\mathcal{I}_X}(f_L^{\leftarrow}(D)) \rightarrow M_{\mathcal{I}_Z}((g \circ f)_L^{\rightarrow}(f_L^{\leftarrow}(D))) \right) \right) \\ &= \left(\bigwedge_{B \in L^Y} \left(M_{\mathcal{I}_Y}(B) \rightarrow M_{\mathcal{I}_X}(f_L^{\leftarrow}(B)) \right) \right) \wedge \left(\bigwedge_{D \in L^Y} \left(M_{\mathcal{I}_X}(f_L^{\leftarrow}(D)) \rightarrow M_{\mathcal{I}_Z}(g_L^{\rightarrow}(D)) \right) \right) \\ &= \bigwedge_{B \in L^Y} \left(\left(M_{\mathcal{I}_Y}(B) \rightarrow M_{\mathcal{I}_X}(f_L^{\leftarrow}(B)) \right) \wedge \left(M_{\mathcal{I}_X}(f_L^{\leftarrow}(B)) \rightarrow M_{\mathcal{I}_Z}(g_L^{\rightarrow}(B)) \right) \right) \\ &\leq \bigwedge_{B \in L^Y} \left(M_{\mathcal{I}_Y}(B) \rightarrow M_{\mathcal{I}_Z}(g_L^{\rightarrow}(B)) \right) = II(g). \end{aligned}$$

(2) g is injective, so $g_L^{\leftarrow}(g_L^{\rightarrow}(B)) = B \ (\forall B \in L^Z)$, then $g_L^{\leftarrow}((g \circ f)_L^{\rightarrow}(D)) = f_L^{\rightarrow}(D) \ (\forall D \in L^X)$. By Lemma 2.6, we know

$$\begin{aligned}
RI(g) \wedge II(g \circ f) &= \left(\bigwedge_{C \in L^Z} \left(M_{\mathcal{I}_Z}(C) \rightarrow M_{\mathcal{I}_Y}(g_L^{\leftarrow}(C)) \right) \right) \wedge \left(\bigwedge_{A \in L^X} \left(M_{\mathcal{I}_X}(A) \rightarrow M_{\mathcal{I}_Z}((g \circ f)_L^{\rightarrow}(A)) \right) \right) \\
&\leq \left(\bigwedge_{D \in L^X} \left(M_{\mathcal{I}_Z}((g \circ f)_L^{\rightarrow}(D)) \rightarrow M_{\mathcal{I}_Y}(g_L^{\leftarrow}((g \circ f)_L^{\rightarrow}(D))) \right) \right) \wedge \left(\bigwedge_{A \in L^X} \left(M_{\mathcal{I}_X}(A) \rightarrow M_{\mathcal{I}_Z}((g \circ f)_L^{\rightarrow}(A)) \right) \right) \\
&= \left(\bigwedge_{D \in L^X} \left(M_{\mathcal{I}_Z}(g_L^{\rightarrow}(f_L^{\rightarrow}(D))) \rightarrow M_{\mathcal{I}_Y}(f_L^{\rightarrow}(D)) \right) \right) \wedge \left(\bigwedge_{A \in L^X} \left(M_{\mathcal{I}_X}(A) \rightarrow M_{\mathcal{I}_Z}(g_L^{\rightarrow}(f_L^{\rightarrow}(A))) \right) \right) \\
&= \bigwedge_{A \in L^X} \left(\left(M_{\mathcal{I}_Z}(g_L^{\rightarrow}(f_L^{\rightarrow}(A))) \rightarrow M_{\mathcal{I}_Y}(f_L^{\rightarrow}(A)) \right) \wedge \left(M_{\mathcal{I}_X}(A) \rightarrow M_{\mathcal{I}_Z}(g_L^{\rightarrow}(f_L^{\rightarrow}(A))) \right) \right) \\
&\leq \bigwedge_{A \in L^X} \left(M_{\mathcal{I}_X}(A) \rightarrow M_{\mathcal{I}_Y}(f_L^{\rightarrow}(A)) \right) = II(f).
\end{aligned}$$

□

Lemma 4.8. Given two mappings $\mathcal{I}_X : L^X \rightarrow M$ and $\mathcal{I}_Y : L^Y \rightarrow M$. Let $f : X \rightarrow Y$ be a bijective mapping. Then

$$(1) RI(f) = \bigwedge_{A \in L^X} \left(M_{\mathcal{I}_Y}(f_L^{\rightarrow}(A)) \rightarrow M_{\mathcal{I}_X}(A) \right).$$

$$(2) II(f) = \bigwedge_{B \in L^Y} \left(M_{\mathcal{I}_X}(f_L^{\leftarrow}(B)) \rightarrow M_{\mathcal{I}_Y}(B) \right).$$

Proof. (1) On one hand,

$$\bigwedge_{A \in L^X} \left(M_{\mathcal{I}_Y}(f_L^{\rightarrow}(A)) \rightarrow M_{\mathcal{I}_X}(A) \right) = \bigwedge_{A \in L^X} \left(M_{\mathcal{I}_Y}(f_L^{\rightarrow}(A)) \rightarrow M_{\mathcal{I}_X}(f_L^{\leftarrow}(f_L^{\rightarrow}(A))) \right) \leq \bigwedge_{B \in L^Y} \left(M_{\mathcal{I}_Y}(B) \rightarrow M_{\mathcal{I}_X}(f_L^{\leftarrow}(B)) \right) = RI(f).$$

On the other hand,

$$RI(f) = \bigwedge_{B \in L^Y} \left(M_{\mathcal{I}_Y}(f_L^{\rightarrow}(f_L^{\leftarrow}(B))) \rightarrow M_{\mathcal{I}_X}(f_L^{\leftarrow}(B)) \right) \geq \bigwedge_{A \in L^X} \left(M_{\mathcal{I}_Y}(f_L^{\rightarrow}(A)) \rightarrow M_{\mathcal{I}_X}(A) \right).$$

Then we know $RI(f) = \bigwedge_{A \in L^X} \left(M_{\mathcal{I}_Y}(f_L^{\rightarrow}(A)) \rightarrow M_{\mathcal{I}_X}(A) \right)$.

(2) The proof is similar to (1). □

Theorem 4.9. Given two mappings $\mathcal{I}_X : L^X \rightarrow M$ and $\mathcal{I}_Y : L^Y \rightarrow M$. Let $f : X \rightarrow Y$ be a bijective mapping. Then

$$ISO(f) = \bigwedge_{A \in L^X} \left(M_{\mathcal{I}_X}(A) \leftrightarrow M_{\mathcal{I}_Y}(f_L^{\rightarrow}(A)) \right) = \bigwedge_{B \in L^Y} \left(M_{\mathcal{I}_Y}(B) \leftrightarrow M_{\mathcal{I}_X}(f_L^{\leftarrow}(B)) \right).$$

5 Degree of quotient mappings

A surjection can be regarded as a quotient, for a surjection between (X, \mathcal{I}_X) and (Y, \mathcal{I}_Y) which are two (L, M) -fuzzy matroid-like spaces, we could consider the quotient degree with respect to $f : X \rightarrow Y$. And in this section supposing X and Y are finite sets.

Definition 5.1. Given two mappings $\mathcal{I}_X : L^X \rightarrow M$ and $\mathcal{I}_Y : L^Y \rightarrow M$. Let $f : X \rightarrow Y$ be a surjective mapping, Then

$$QU(f) = \bigwedge_{B \in L^Y} \left(M_{\mathcal{I}_Y}(B) \leftrightarrow M_{\mathcal{I}_X}(f_L^{\leftarrow}(B)) \right)$$

is called quotient degree of f with respect to \mathcal{I}_X and \mathcal{I}_Y . It is easy to know $QU(f) \leq RI(f)$.

Theorem 5.2. Given two mappings $\mathcal{I}_X : L^X \rightarrow M$ and $\mathcal{I}_Y : L^Y \rightarrow M$, Let $D(\mathcal{I}_X)$ and $D(\mathcal{I}_Y)$ be the degrees of M -fuzzy family of independent L -fuzzy sets \mathcal{I}_X and \mathcal{I}_Y , Let $f : X \rightarrow Y$ be a surjective mapping. Then

$$QU(f) = \bigvee \{ a \in M \mid D(\mathcal{I}_Y) \wedge \mathcal{I}_Y(B) \wedge a \leq D(\mathcal{I}_X) \wedge \mathcal{I}_X(f_L^{\leftarrow}(B)), D(\mathcal{I}_X) \wedge \mathcal{I}_X(f_L^{\leftarrow} B) \wedge a \leq D(\mathcal{I}_Y) \wedge \mathcal{I}_Y(B), \forall B \in L^X \}.$$

The proof is similar to that of Theorem 4.2.

Theorem 5.3. Given two mappings $\mathcal{I}_X : L^X \rightarrow M$ and $\mathcal{I}_Y : L^Y \rightarrow M$. Let $f : X \rightarrow Y$ be a surjective mapping. Then $RI(f) \wedge II(f) \leq QU(f)$.

Proof. f is surjective, so we have $f_L^\rightarrow(f_L^\leftarrow(D)) = D, \forall D \in L^Y$. Then

$$\begin{aligned}
RI(f) \wedge II(f) &= \left(\bigwedge_{B \in L^Y} (M_{\mathcal{I}_Y}(B) \rightarrow M_{\mathcal{I}_X}(f_L^\leftarrow(B))) \right) \wedge \left(\bigwedge_{A \in L^X} (M_{\mathcal{I}_X}(A) \rightarrow M_{\mathcal{I}_Y}(f_L^\rightarrow(A))) \right) \\
&\leq \left(\bigwedge_{B \in L^Y} (M_{\mathcal{I}_Y}(B) \rightarrow M_{\mathcal{I}_X}(f_L^\leftarrow(B))) \right) \wedge \left(\bigwedge_{D \in L^Y} (M_{\mathcal{I}_X}(f_L^\leftarrow(D)) \rightarrow M_{\mathcal{I}_Y}(f_L^\rightarrow(f_L^\leftarrow(D)))) \right) \\
&= \left(\bigwedge_{B \in L^Y} (M_{\mathcal{I}_Y}(B) \rightarrow M_{\mathcal{I}_X}(f_L^\leftarrow(B))) \right) \wedge \left(\bigwedge_{D \in L^Y} (M_{\mathcal{I}_X}(f_L^\leftarrow(D)) \rightarrow M_{\mathcal{I}_Y}(D)) \right) \\
&= \bigwedge_{A \in L^X} \left((M_{\mathcal{I}_Y}(B) \rightarrow M_{\mathcal{I}_X}(f_L^\leftarrow(B))) \wedge (M_{\mathcal{I}_X}(f_L^\leftarrow(B)) \rightarrow M_{\mathcal{I}_Y}(B)) \right) \\
&\leq \bigwedge_{B \in L^Y} (M_{\mathcal{I}_Y}(B) \leftrightarrow M_{\mathcal{I}_X}(f_L^\leftarrow(B))) = QU(f).
\end{aligned}$$

□

Theorem 5.4. Given three mappings $\mathcal{I}_X : L^X \rightarrow M$, $\mathcal{I}_Y : L^Y \rightarrow M$ and $\mathcal{I}_Z : L^Z \rightarrow M$. Let $f : X \rightarrow Y$ and $g : Y \rightarrow Z$ be surjective mappings. Then

$$(1) QU(f) \wedge QU(g) \leq QU(g \circ f).$$

$$(2) QU(g \circ f) \wedge RI(f) \wedge RI(g) \leq QU(g).$$

Proof. (1)

$$\begin{aligned}
QU(f) \wedge QU(g) &= \left(\bigwedge_{B \in L^Y} (M_{\mathcal{I}_Y}(B) \leftrightarrow M_{\mathcal{I}_X}(f_L^\leftarrow(B))) \right) \wedge \left(\bigwedge_{C \in L^Z} (M_{\mathcal{I}_Z}(C) \leftrightarrow M_{\mathcal{I}_Y}(g_L^\leftarrow(C))) \right) \\
&\leq \left(\bigwedge_{D \in L^Z} (M_{\mathcal{I}_Y}(g_L^\leftarrow(D)) \leftrightarrow M_{\mathcal{I}_X}(f_L^\leftarrow(g_L^\leftarrow(D)))) \right) \wedge \left(\bigwedge_{C \in L^Z} (M_{\mathcal{I}_Z}(C) \leftrightarrow M_{\mathcal{I}_Y}(g_L^\leftarrow(C))) \right) \\
&= \left(\bigwedge_{D \in L^Z} (M_{\mathcal{I}_Y}(g_L^\leftarrow(D)) \leftrightarrow M_{\mathcal{I}_X}((g \circ f)_L^\leftarrow(D))) \right) \wedge \left(\bigwedge_{C \in L^Z} (M_{\mathcal{I}_Z}(C) \leftrightarrow M_{\mathcal{I}_Y}(g_L^\leftarrow(C))) \right) \\
&= \bigwedge_{C \in L^Z} \left((M_{\mathcal{I}_Y}(g_L^\leftarrow(C)) \leftrightarrow M_{\mathcal{I}_X}((g \circ f)_L^\leftarrow(C))) \wedge (M_{\mathcal{I}_Z}(C) \leftrightarrow M_{\mathcal{I}_Y}(g_L^\leftarrow(C))) \right) \\
&\leq \bigwedge_{C \in L^Z} (M_{\mathcal{I}_Z}(C) \leftrightarrow M_{\mathcal{I}_X}((g \circ f)_L^\leftarrow(C))) = QU(g \circ f).
\end{aligned}$$

(2) Consider $QU(g \circ f)$,

$$QU(g \circ f) = \bigwedge_{C \in L^Z} (M_{\mathcal{I}_Z}(C) \leftrightarrow M_{\mathcal{I}_X}(g \circ f)_L^\leftarrow(C)) \leq \bigwedge_{C \in L^Z} (M_{\mathcal{I}_X}((g \circ f)_L^\leftarrow(C)) \rightarrow M_{\mathcal{I}_Z}(C))$$

and

$$RI(f) = \bigwedge_{B \in L^Y} (M_{\mathcal{I}_Y}(B) \rightarrow M_{\mathcal{I}_X}(f_L^\leftarrow(B))) \leq \bigwedge_{D \in L^Z} (M_{\mathcal{I}_Y}(g_L^\leftarrow(D)) \rightarrow M_{\mathcal{I}_X}((g \circ f)_L^\leftarrow(D))).$$

Then, we have $QU(g \circ f) \wedge RI(f) \leq \bigwedge_{D \in L^Z} (M_{\mathcal{I}_Y}(g_L^\leftarrow(D)) \rightarrow M_{\mathcal{I}_Z}(D))$.

Hence

$$\begin{aligned}
QU(g \circ f) \wedge RI(f) \wedge RI(g) &\leq \left(\bigwedge_{D \in L^Z} (M_{\mathcal{I}_Y}(g_L^\leftarrow(D)) \rightarrow M_{\mathcal{I}_Z}(D)) \right) \wedge \left(\bigwedge_{C \in L^Z} (M_{\mathcal{I}_Z}(C) \rightarrow M_{\mathcal{I}_Y}(g_L^\leftarrow(C))) \right) \\
&= \bigwedge_{C \in L^Z} \left((M_{\mathcal{I}_Y}(g_L^\leftarrow(C)) \rightarrow M_{\mathcal{I}_Z}(C)) \wedge (M_{\mathcal{I}_Z}(C) \rightarrow M_{\mathcal{I}_Y}(g_L^\leftarrow(C))) \right) \\
&= \bigwedge_{C \in L^Z} (M_{\mathcal{I}_Z}(C) \leftrightarrow M_{\mathcal{I}_Y}(g_L^\leftarrow(C))) \\
&= QU(g).
\end{aligned}$$

□

6 Conclusions

In this paper, the degree of M -fuzzy family of independent L -fuzzy sets with respect to a mapping from L^X to M is introduced to generalize the notion of (L, M) -fuzzy independent structure. Besides, weak degree and independent-to-independent degree of a function between two matroids are defined. Based on these, some special degrees (e.g. quotient degrees and isomorphism degrees) with respect to mappings between two (L, M) -fuzzy matroid-like spaces are defined and studied in details. Also, we give characterizations of these degrees and investigate relationships among them. In the view of degree, many notions of matroids (such as circuit, base, and so on) can be generalized. It would be agreeable that those degrees with respect to the same (L, M) -fuzzy matroid become equal. And we can generalise L^X to a lattice or consider greedoids which is closer connected with convex structures.

Acknowledgement

This work was supported by the National Natural Science Foundations of China (Grant No. 11771263, 11501496), the Key Research and Development Project of Shaanxi Province of China (Grant No. 2018KW-050), and the Fundamental Research Funds for the Central Universities.

References

- [1] W. F. Al-Omeri, O. H. Khalil, A. Ghareeb, *Degree of (L, M) -fuzzy semi-precontinuous and (L, M) -fuzzy semi-preirresolute functions*, Demonstratio Mathematica, **51** (2018), 182–197.
- [2] H. J. Bandelt, J. Hedlková, *Median algebras*, Discrete Mathematics, **45** (1983), 1–30.
- [3] M. Berger, *Convexity*, American Mathematical Monthly, **97** (1990), 650–678.
- [4] G. Birkhoff, *Abstract linear dependence and lattices*, American Journal of Mathematics, **57** (1935), 800–804.
- [5] W. A. Coppel, *Axioms for convexity*, Bulletin of the Australian Mathematical Society, **47** (1993), 179–197.
- [6] R. P. Dilworth, *Dependence relations in a semimodular lattice*, Duke Mathematical Journal, **11** (1944), 575–587.
- [7] J. Edmonds, *Submodular functions, matroids, and certain polyhedra*, Combinatorial Optimization–Eureka, You Shrink!. Springer, Berlin, Heidelberg, **2570** (2003), 11–26.
- [8] A. Ghareeb, W. F. Al-omeri, *New degrees for functions in (L, M) -fuzzy topological spaces based on (L, M) -fuzzy semiopen and (L, M) -fuzzy preopen operators*, Journal of Intelligent and Fuzzy Systems, **36**(1) (2019), 787–803.
- [9] R. Goetschel, W. Voxman, *Fuzzy matroids*, Fuzzy Sets and Systems, **27** (1988), 291–302.
- [10] R. Goetschel, W. Voxman, *Bases of fuzzy matroids*, Fuzzy Sets and Systems, **31** (1989), 253–261.
- [11] R. Goetschel, W. Voxman, *Fuzzy circuits*, Fuzzy Sets and Systems, **32** (1989), 35–43.
- [12] R. Goetschel, W. Voxman, *Fuzzy matroids and a greedy algorithm*, Fuzzy Sets and Systems, **37** (1990), 201–214.
- [13] R. Goetschel, W. Voxman, *Fuzzy rank functions matroids*, Fuzzy Sets and Systems, **42** (1991), 245–258.
- [14] R. Goetschel, W. Voxman, *Fuzzy matroids sums a greedy algorithm*, Fuzzy Sets and Systems, **52** (1992), 189–200.
- [15] R. Goetschel, W. Voxman, *Spanning properties for fuzzy matroids*, Fuzzy Sets and Systems, **51** (1992), 313–321.
- [16] U. Höhle, A. P. Sostak, *Axiomatic foundations of fixed-basis fuzzy topology*, Mathematics of Fuzzy Sets, Springer, Boston, MA, **3** (1999), 123–272.
- [17] Y. C. Hsueh, *On fuzzification of matroids*, Fuzzy Sets and System, **53** (1993), 317–327.
- [18] C. E. Huang, F. G. Shi, *Bases of $[0, 1]$ -matroids*, Hacettepe Journal of Mathematics and Statistics, **39** (2010), 233–240.
- [19] X. N. Li, S. Y. Liu, S. G. Li, *Connectedness of refined fuzzy matroids*, Fuzzy Sets and Systems, **161** (2010), 2709–2723.

- [20] E. Q. Li, F. G. Shi, *Minors of M -fuzzifying matroids*, Journal of Intelligent and Fuzzy Systems, **28** (2015), 1213–1224.
- [21] X. N. Li, B. Z. Sun, Y. H. She, *Generalized matroids based on three-way decision models*, International Journal of Approximate Reasoning, **90** (2017), 192–207.
- [22] X. N. Li, H. J. Yi, *Fuzzy bases of fuzzy independent set systems*, Fuzzy Sets and Systems, **311** (2017), 99–111.
- [23] H. Lian, X. Xin, *The nullities for M -fuzzifying matroids*, Applied Mathematics Letters, **25** (2012), 279–286.
- [24] H. Lian, X. Xin, *$[0, 1]$ -fuzzy β -rank functions*, Hacettepe Journal of Mathematics and Statistics, **41** (2012), 59–65.
- [25] C. Y. Liang, F. G. Shi, *Degree of continuity for mappings of (L, M) -fuzzy topological spaces*, Journal of Intelligent and Fuzzy Systems, **27** (2014), 2665–2677.
- [26] L. X. Lu, W. W. Zheng, *Categorical relations among matroids, fuzzy matroids and fuzzifying matroids*, Iranian Journal of Fuzzy Systems, **7** (2010), 81–89.
- [27] S. Malane, *Some interpretation of abstract linear dependence in terms of projective geometry*, American Journal of Mathematics, **58** (1936), 236–240.
- [28] J. G. Oxley, *Matroid theory*, Oxford University Press, New York, 1992.
- [29] B. Pang, F. G. Shi, *Subcategories of the category of L -convex spaces*, Fuzzy Sets and Systems, **313** (2017), 61–74.
- [30] F. G. Shi, *L -fuzzy relation and L -fuzzy subgroup*, Journal of Fuzzy Mathematics, **8** (2000), 491–499.
- [31] F. G. Shi, *A new approach to the fuzzification of matroids*, Fuzzy Sets and System, **160** (2009), 696–705.
- [32] F. G. Shi, *(L, M) -fuzzy matroids*, Fuzzy Sets and Systems, **160** (2009), 2387–2400.
- [33] F. G. Shi, E. Q. Li, *The restricted hull operator of M -fuzzifying convex structures*, Journal of Intelligent and Fuzzy Systems, **30** (2015), 409–421.
- [34] F. G. Shi, L. Wang, *Characterizations and applications of M -fuzzifying matroids*, Journal of Intelligent and Fuzzy Systems, **25** (2013), 919–930.
- [35] F. G. Shi, Z. Y. Xiu, *A new approach to the fuzzification of convex structures*, Journal of Applied Mathematics, **2014** (2014), 1–12.
- [36] W. T. Tutte, *Lectures on matroids*, Journal of Research of The National Bureau of Standards, **69B** (1965), 49–53
- [37] M. L. J. Van De Vel, *Theory of convex structures*, Elsevier Science Publishers B. V., Amsterdam, 1993.
- [38] G. J. Wang, *Theory of topological molecular lattices*, Fuzzy Sets and Systems, **47** (1992), 351–376.
- [39] L. Wang, F. G. Shi, *Characterization of L -fuzzifying matroids by L -fuzzifying closure operators*, Fuzzy Sets and Systems, **47** (1992), 351–376.
- [40] L. Wang, Y. P. Wei, *M -fuzzifying P -closure operators*, Advance in Soft Computing, **62** (2009), 547–554.
- [41] D. J. A. Welsh, *Matroid theory*, Oxford University Press, New York, 1976.
- [42] H. Whitney, *On the abstract properties of linear dependence*, American Journal of Mathematics, **57** (1935), 509–533.
- [43] X. Y. Wu, S. Z. Bai, *On M -fuzzifying JHC convex structures and M -fuzzifying peano interval spaces*, Journal of Intelligent and Fuzzy Systems, **30** (2016), 2447–2458.
- [44] X. Xin, F. G. Shi, *M -fuzzifying bases*, Proyecciones Revista De Matematica, **28** (2009), 271–283.
- [45] X. Xin, F. G. Shi, *Rank functions for closed and perfect $[0, 1]$ -matroids*, Hacettepe Journal of Mathematics and Statistics, **39** (2010), 31–39.
- [46] X. Xin, F. G. Shi, *Categories of bi-fuzzy pre-matroids*, Computer and Mathematics with Applications, **59** (2010), 1548–1558.

- [47] X. Xin, F. G. Shi, *L-fuzzy nullities for L-matroids*, *Ars Combinatoria*, **99** (2016), 63–79.
- [48] X. Xin, F. G. Shi, S. G. Li, *M-fuzzifying derived operators and difference derived operators*, *Iranian Journal of Fuzzy Systems*, **7** (2010), 71–81.
- [49] X. Xin, S. J. Yang, *M-fuzzifying matroids induced by M-fuzzifying closure operators*, *Iranian Journal of Fuzzy Systems*, **14**(3) (2017), 139–149.
- [50] Z. Y. Xiu, *Studies on (L, M)-fuzzy convexity spaces and their related theory*, PhD thesis, Beijing Institute of Technology, 2015.
- [51] Z. Y. Xiu, F. G. Shi, *M-fuzzifying interval spaces*, *Iranian Journal of Fuzzy Systems*, **14** (2017), 145–162.
- [52] W. Yao, F. G. Shi, *Bases axioms and circuits axioms for fuzzifying matroids*, *Fuzzy Sets and Systems*, **161** (2010), 3155–3165.
- [53] L. A. Zadeh, *Fuzzy sets*, *Information and Control*, **8** (1965), 338–353.
- [54] Y. Zhong, F. G. Shi, *Characterizations of (L, M)-fuzzy topology degrees*, *Iranian Journal of Fuzzy Systems*, **15**(4) (2018), 129–149.